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| PART A: Grammar & Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.

Then mark the answer on your answer sheet.

41-

42-

43-

44-

45-

46-

Bulk materials like coal or grain —ememeeeee aloONg
pipes from the ship to storage buildings.

1) would shift / send 2) may be shifted / sent

3) were shifted / would send 4) should be sending / were sent

nts because | have got many friends from

-eeeee== by conveyor belts or

abroad every year.
1) am using to hearing vould rather hearing
3) am using to hear d rather to hear
Suddenly she felt ve J | yhat to do -------e-e- ---- she was

waiting.

1) while 4) as soon as

I think he wishes he ~------aeevu s quite eloquent.

1) prepared 2) ha 4) would prepare

If --=-eeeeeeaeeeee a bus to passenger side. You'll
get a great view of the ¢

1) taken 4) being taken

A line of forts was bui ¢ country against attack.

1) prohibit ply 4) protect

We, as mankind, sho
pushing forces in ——---—-
1) orbit 2) altitude 4) measure

As far as I'm concerned, your handwriting is no -3 why don't you use a

computer for your a m\ o ¢ lﬁ o o
1) legible ' I:) obtainable

God's creating the sun's pulling and

s

Although a cheetah L I — a speed of 110 kllometers per hour, it can maintain
this speed for only a few W“’?

1) convey 2) uphold mva 4) achieve

The entire history of the human race has been marked by s of cultural and
technological advances from one civilization to another.

1) dilemmas 2) transfers 3) prejudices 4) appointments

Compared with the other regions, unemployment is ----=seeee=—- much higher in the east
of our country.
1) randomly 2) reciprocally 3) conceptually 4) proportionally

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

One of the critical problems in archaeology is dating and therefore two different types
of dating have been (52) -=-=mmmemmmnnen . One is called absolute chronology. which is the
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actual calculation of the object in years. (53) --------==---- is called relative chronology,
which refers to the dating in relation to other phenomena (54) ------------ chronological
sequence. One can say it is older than another object but cannot determine its
(55) =mmmmmmmmenaee age. For example, in prehistoric Europe and Africa no written dates
existed before the arrival of the Romans. (56) ---=-=------- --, a date cannot be assigned.
A major problem for an archaeologist is to date the prehistoric world. Thus, relative
chronology is used.

52- 1) declined 2) subsided 3) devised 4) abolished
53- 1) Other 2) Another 3) The other 4) One other

54- 1)in 2)on 3)at 4) for
55- 1) adequate ] 3) temporary 4) imaginary
1) Yet evertheless 4) Therefore

| PART C: Reading Cc
Directions: Read the follo
(1), (2), (3), or (4). Then ma

ans by choosing the best choice

PASSAGE I:

Scientific observations
with scientists becau
air pressure. time int
varies from case to cé
religion, education, b
scientific experiment wl

oratories are popular
les such as heat, light,
A variable is anything which
- in height, weight, age. sex. race,
wand many other things. We have a
ortant variables except one. then see
what happens when that o variables except one have been
controlled. we cannot be sure whic produced the results. If we wish to

study, say, the effeBts of*phosphates on ¢lant . #@l efher factors - seed, soil,
water, sunlight, Fiqlbh Il the sample plots:

Then the varying amounts of phosphates on different test plots can be held responsible
for different growth rat@wm»‘i"rerg' in all scientific experimention -
allow one variable to vary"While holding all other varfables constant.

57-  The author suggests in a scientific experiment --=-=-==eeeeee,
1) only one variable is controlled
2) none of variables are controlled
3) all but one variable are controlled
4) age, sex, and education are important variables
58- Labs are popular places for experiments because —-——--—--——,
1) they are more comfortable
2) it is easy to control variables there
3) they are built for experimentation
4) it is hard to get permission for other places
59- The word “handy” in "handy places to control variables" in line 2 means ---——--e-eaeeev,
1) helpful 2) habitual 3) scientific 4) convenient
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60- According to the passage, which sentence is true?
1) A variable is constant in different cases.
2) In labs, experiments are under careful control.
3) The basic scientific technique is to keep all variables changeless.
4) Using the varying amounts of phosphates doesn't have any effect on plant growth.
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